p == pUp | czp

cxp == [lp | lp
lp == lIp/lp | axis::test[q]
q = qAq|qVql|g|true| cap

where
e p is the root nonterminal of the grammar,

e azis is one of {self, child, parent, descendant, descendant-or-self, ancestor, ancestor-or-self,
following-sibling, preceding-sibling, following, preceding}, and

e test is one of {x} UX.

Figure 1: Syntax of CoreXPath over alphabet ..

[P1 U pa] Nodeset (1) = [p1]Nvodeset (1) U [p2] Nodeset (1)

[[/p]] NodeSet (n) = [[p]] NodeSet (nO)

[[pl/p2]]NodeSet (n) = et ]]U ( )[[p2]]NodeSet (n/)

[axis::test[q]] Nodeset(n) = {n' € T(test) | (n,n') € Rawis N[q] Bootean (') }
[[(h A C]2]] Boolean ( ) = [[Ch]] Boolean ( ) [[Q2]] Boolean (n)

[[QI V Q2]] Boolean (n> = [[QI]] Boolean ( ) [[Q2]] Boolean (n)

[[_' ]]Boole(m ( ) = 7 [[Q]] Boolean (n)

[true] pootean (1) = true

[[p]] Boolean (n) = [[p]] NodeSet (n) % @

where ng is the root node of the tree document under consideration,
e T'(x) = Node, and

e T'(0) = Lab, for every o € ¥.

Figure 2: Semantic functions for CoreXPath.



